ANEeKTPUUKHU PaccTosiHus
NMokpoBka CrtaHuuma oTnp. Toukn | [lpownwu [o KoHua
15-30 TBepb 01 41,83
15-42 KnuH 34 16,61 25,22
17-06 KnvH DIN 24,66 17,17
17-36 TBepb 52 28,54 13,29
18-40 KnuH 66 36,53 5,30
19-13 KoHakoBo 70 38,96 2,87
19-21 Knun 73 40,71 1,12

19-31 TBepb

ABTOGYC N2 49 no ct. KnuH ot ocT. «llycTtble MeneHku» (1. 44) — 13:31, 15:38

ot ocT. «bopuc-'ne6» (700 m Ha BocTOK T. 40) — 13:28, 15:35

ABTO6YC Ne 37 ot ocT. «<HaropHoe» (T. 66) o ct. KnuH — 16:05, 17:10
no cT1. MoaconHevyHas — 15:55, 18:10, 18:35
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